=8 R6 4 H
K 4% |5H|6H|7H|8H | 1H| 2H | 3H | 4H |==3T =3 K 4 |5H|6H|7H|8H | 1H| 2H | 3H | 4H |3E4T B/ a|/ME
31 3| 3|4|3]|5]|3]3 3121223 4|3]2 27

R 27 27 RIS 21 21
31 6] 9 |13|[16]21]24] 27 3|5 9 1216 19| 21 48
21314326 2]3 5| 2 2121 3 4 25

E&N 25 25 E&N @ 22 19
21 5] 9|12]14]20](22] 25 51 7110|1214 17| 18] 22 44
. 213 23|54 2]3 . 2|3 3|44 3] 3 24

HE 24 24 BE 25 25
21 5] 7110]15]19] 21| 24 2| 5] 811 |15]19]|22] 25 49
K 4% |5H|6H|7H|8H | 1H| 2H | 3H | 4H |==3T B/ a|/ME K % |S5H|6H|7H|8H | 1H| 2H | 3H | 4H |Z=4T B a|&Eh
3134|234 2]3 48 2131333 4|3]2 72

R 24 24 RIS 23 23
31 6]10f12]15] 19 21| 24 72 2| 5] 811 |14] 18] 21| 23 95
21 41 23|4]3|3]3 44 21 314|334 2]3 68

e 24 24 e | 24 24
21 6] 811 |15] 18] 21| 24 68 21 5] 9 12]15]19] 21| 24 92
. 3| 23|33 4]3]| 2 49 . 2| 33| 4] 2]4] 4] 3 72

HE 23 23 e 25 25
3| 5] 811 |14] 18] 21| 23 72 2| 5] 8121418221 25 97
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